
PUSH



Acústica i confort
PUSH ens ofereix la possibilitat d´estar 
en mòduls confortables amb una 
acústica que millora la nostra qualitat 
laboral.

Acoustic and comfort
PUSH booths solve the lack of private 
areas in noisy open plan offices 
offering acoustic solutions.

 

Acoustique et confort
L’interaction entre les différents espaces 
de nos bureaux apporte plus de confort 
et un meilleur bien-être au travail.
 

Akustisch und komfortabe
PUSH bietet uns einen akustischen 
Raum in Raum-System für konzentriertes 
Arbeiten und Kommunikation.

ACÚSTICA Y CONFORT
PUSH nos ofrece la posibilidad de estar entre módulos confortables 

con una acústica que mejora nuestra calidad laboral.

PUSH



Tapizados / Entapissats / Tissus / Fabrics / Stoffbezug: TOPAZ TO703, TO600, TO803.

|5||4|



     Opción CONFORT/ Opció CONFORT / Option CONFORT / 
     COMFORT type / Option COMFORT

Tapizados / Entapissats / Tissus / Fabrics / Stoffbezug:  VIGO VI400, VI800.

|7||6|



Opción BASIC / Opció BASIC / Option BASIC / BASIC type 
/ Option BASIC 

Tapizados / Entapissats / Tissus / Fabrics / Stoffbezug: FIJI FI311, FI312.

|9||8|



Tapizados / Entapissats / Tissus / Fabrics / Stoffbezug: TOPAZ TO903, TO902.

|11||10|



Complemento: Soporte pantalla / Complement: Suport pantalla / 
Complément: Support écran / Complement: TV support / Zubehör: 
Monitorträger

Tapizados / Entapissats / Tissus / Fabrics / Stoffbezug: TOPAZ TO903, TO902. 

|13||12|



Tapizados / Entapissats / Tissus / Fabrics / Stoffbezug: DANZICA DA048, DA064, DA042, DA023.

Tapizado / Entapissat / Tissu / Fabric / 
Stoffbezug: GRAVITY GRA017.

|15||14|



VARIANTES
VARIANTS  /  MODÈLES  /  VERSIONS  /  VARIANTEN PUSH

BASIC
/ Basic / Basic 
/ Basic  / Basic

BASIC
/ Basic / Basic 
/ Basic  / Basic

BASIC
/ Basic / Basic 
/ Basic / Basic

BASIC
/ Basic / Basic 
/ Basic  / Basic

CONFORT
/ Confort  / Confort 
/ Comfort / Comfort

CONFORT
/ Confort / Confort 
/ Comfort / Comfort

CONFORT
/ Confort  / Confort 
/ Comfort / Comfort

CONFORT
/ Confort  / Confort 
/ Comfort / Comfort

CONFORT
/ Confort / Confort 
/ Comfort / Comfort

BASIC
/ Basic  / Basic 
/ Basic / Basic

ACÚSTICO
/ Acústic / Acoustique 
/ Acoustic / Akustisch

ACÚSTICO
/ Acústic  / Acoustique 
/ Acoustic / Akustisch

ACÚSTICO
/ Acústic / Acoustique 
/ Acoustic / Akustisch

SOFÁ 1 PLAZA / SOFÀ 1 PLAÇA / CANAPÉ 1 PLACE / 1 SEATER 
/ EINZEL-SOFA

CONJUNTO 4 PLAZAS / CONJUNT 4 PLACES / ENSEMBLE 4 PLACES / 
MEETING POD (4 SEATS)  / RAUM IM RAUM SYSTEM

MESA AUXILIAR / TAULA AUXILIAR  / TABLE AUXILIAIRE
 / LAPTOP TABLE  / EINZELTISCH

SOFÁ ALTO 1 PLAZA / SOFÀ ALT 1 PLAÇA  / CANAPÉ HAUT 1 PLACE / 
HIGH-BACKREST 1 SEATER  / EINZEL-SOFA HOCH

SOFÁ 2 PLAZAS / SOFÀ 2 PLACES  / CANAPÉ 2 PLACES / 2 SEATER  
/ 2ER-SOFA

SOFÁ ALTO 2 PLAZAS / SOFÀ ALT 2 PLACES / CANAPÉ HAUT 2 PLACES / HIGH-
BACKREST 2 SEATER  / 2ER-SOFA HOCH

Complementos / COMPLEMENTS  /  COMPLÉMENTS / COMPLEMENTS  / ZUBEHÖR

TAPIZADOS / ENTAPISSATS / NUANCIER TISSUS / UPHOLSTERY / STOFFBEZUG
Soporte pantalla / Suport pan-
talla / Support écran / TV support 
/ Monitorträger.

ELECTRIFICACIÓN TIPO E / 
Electrificació Tipus E / Électrification 
Type E / Type E / Netz- und Daten-
Anschlussbox Typ E.

ELECTRIFICACIÓN TIPO A, B 
o C / Electrificació Tipus A, B o C 
/ Électrification Type A, B ou C /  
Type A, B and C / 
Netz- und Datenschlussbox Typ A, 
Typ B oder Typ C

Mesa. / Taula / 
Table / Table 
/ Tisch.

Mesa con electrifica-
ción tipo A, B o C / 
Taula amb electrificació 
tipus A, B o C / Table 
avec électrification type 
A, B ou C / Table with 
type A, B or C / Tisch 
mit Netz-und Daten- 
Anschlussbox Typ A, B 
oder C.

Mesa con electrifi-
cación tipo E / Taula 
amb electrificació tipus 
E / Table avec électri-
fication type E / Table 
with type E / Tisch mit 
Netz-und Daten-
Anschlussbox Typ E.

 

Muestrario telas
/ Mostrari teles  / Nuancier tissus 
/ Fabric sample book  / Stoffmusterkarte.

*Excepto EVOLVE / Excepte EVOLVE / Sauf EVOLVE 
/ EVOLVE fabric is not available / Kann NICHT mit 
Kunstleder “EVOLVE” bezogen werden.

MEDIDAS
MESURES  /  DIMENSIONS  /  MEASUREMENTS  /  MAßE

87 69

71 56

15

153

71

69

56

15

153

149

69

134

15

87

149

69

134

15

153

134

15

238

149
73 66

60 38

45

1 plaza / 1 plaça /  1 place /  1 seater  /   Einzel-Sofa

Alto 1 plaza / Alt 1 plaça /  Haut 1 place /  High-backrest 1 seater  / 
Einzel-Sofa hoch

Alto 2 plazas / Alt 2 places /  Haut 2 places /   High-backrest 2 seater  /  
2er-Sofa hoch

Conjunto 4 plazas / Conjunt 4 places /  Ensemble 4 places /  Meeting 
pod (4 seats)  /  Raum im Raum System

2 plazas / 2 places /  2 places /  2 seater  /  2er-Sofa

Alto 1 plaza acústico / Alt 1 plaça acústic  / Haut 1 place, acoustique /  
Acoustuc high-backrest 1 seater  / Einzel-Sofa hoch akustisch

Alto 2 plazas acústico / Alt 2 places acústic  /  Haut 2 places, 
acoustique  /  Acoustuc high-backrest 2 seater  /  2er-Sofa hoch akustisch

Conjunto 4 plazas acústico / Conjunt 4 places acústic /  Ensemble 4 places, 
acoustique /  Acoustic Meeting pod (4 seats)  /  Raum im Raum System akustisch

|17||16|



CARACTERÍSTIQUES TÈCNIQUES

CARACTÉRISTIQUES TECHNIQUES

TECHNISCHE MERKMALE

CARACTERÍSTICAS TÉCNICAS

TECHNICAL SPECIFICATIONS

SOFÁS
ARMAZÓN DEL ASIENTO: 
•	 Parte estructural construida en madera de pino de distintas secciones 
y colocados según la parte estructural a soportar. 
•	 Unidas entre sí mediante cola de acetato de polivinilo (PVA), puntas 
de acero y tirafondos.
•	 Cinchado entrelazado de cincha elástica de ancho 80 mm.
•	 Espumado en la parte frontal del armazón de espuma de poliuretano 
flexible (poliéter) de grosor 25 mm y de densidad 60 kg/m³.
•	 El montaje del armazón del asiento al conjunto del sofá se realiza 
mediante tornillos M8 DIN 912. 

ARMAZÓN DE LOS LATERALES Y EL RESPALDO
•	 Parte estructural construida en madera de pino de distintas secciones 
y colocadas según la parte estructural a soportar. 
•	 Unidas entre sí mediante cola de acetato de polivinilo (PVA), puntas 
de acero y tirafondos.
•	 El resto de los componentes del armazón son de tablero de viruta 
orientada (OSB) de 10 mm de espesor y tablero de fibras densidad media 
(DM) de 3 mm.
•	 Espumado realizado con espuma de poliuretano flexible (poliéter) de 
grosor 10 mm y de densidad 30 kg/m³.
•	 La unión entre los laterales y el respaldo se realiza mediante un herraje 
de zamak específico y tirafondos; enganche rápido y oculto. 

ARMAZÓN DEL PANEL DE UNIÓN CENTRAL
•	 Parte estructural construida en madera de pino de sección 40 x 30 mm.
•	 Unidas entre sí mediante cola de acetato de polivinilo (PVA), puntas 
de acero y tirafondos. 
•	 El resto de componentes del armazón son de tablero de fibras 
densidad media (DM) de 3 mm.
•	 Espumado realizado con espuma de poliuretano flexible (poliéter) de 

grosor 10 mm y de densidad 30 kg/m³.
•	 La unión entre los laterales y el panel de unión central se realiza con 
un herraje de zamak específico y tirafondos; enganche rápido y oculto. 

ESPUMADOS
•	 Del asiento: realizados con espuma de poliuretano flexible (poliéter) de 
grosor 135 mm y de densidad 30kg/m³. Recubierto con guata de 100 gr.
Del respaldo, brazos y cojines altos: realizados con espuma de poliuretano 
flexible (poliéter) de grosor entre 146 y 54 mm y de densidad HR30kg/m³ 
(HR= Alta resistencia; Indeformabilidad y Alta recuperación). 
Los diferentes elementos están recubiertos con guata de 100 gr.
Se fijan al sofá mediante velcro de ancho 50mm.

PIES
De forma cónica fabricados en acero y acabados con pintura epoxi negra 
(RAL 9005), plata (RAL 9006), blanco (RAL 9016) o grafito (RAL 7022).
Se fijan a la base de los sofás mediante tirafondos.

MESAS

PARA CONJUNTOS DE 4
Sobre melamina: de grosor 25 mm con canto de 2 mm en todo el perímetro. 
Acabados en grafito, plata, blanco, gris, haya, roble, peral, wengué, acacia 
clara, acacia oscura, zebrano, castaño claro o castaño oscuro.
Tienen forma trapezoidal con 2 esquinas redondeadas.
Se fijan al panel de unión mediante escuadras de acero con acabado 
cincado y tornillos rosca M6.
Opcional: mecanizadas para el montaje de kits electrificación.
Columna auxiliar: en la parte superior está soldada una plancha de acero 
de 193 x 193 mm de grosor 2,5 mm con 4 mecanizados para la fijación del 
sobre mediante tornillos M6.
La columna es un tubo de acero redondo de diámetro 55 mm y grosor 1,5 mm.

En la parte inferior hay un nivelador de plástico ABS con rosca M8.
Acabados con pintura epoxi negra (RAL 9005), plata (RAL 9006), blanco 
(RAL 9016) o grafito (RAL 7022).  

MESA AUXILIAR
Sobre melamina: de grosor 25 mm con canto de 2 mm en todo el perímetro. 
Acabados en grafito, plata, blanco, gris, haya, roble, peral, wengué, acacia 
clara, acacia oscura, zebrano, castaño claro o castaño oscuro.
Tienen forma trapezoidal con 4 esquinas redondeadas.
Se fijan a la columna vertical mediante tornillos rosca M6.
Columna vertical: en la parte superior está soldada una plancha de acero 
rectangular de 192 x 160 mm de grosor 2 mm con 4 mecanizados para la 
fijación del sobre mediante tornillos M6. 
La columna es un tubo de acero redondo de diámetro 55 mm y grosor 1,5 
mm.
En la parte inferior va soldada una plancha de acero de 2 mm de grosor con 
dos roscas M6 para la fijación de la base en forma de V. 
La base en forma de V está fabricada con una plancha de acero de 5 mm de 
grosor con 2 mecanizados para el montaje a la columna vertical.
Acabados con pintura epoxi negra (RAL 9005), plata (RAL 9006), blanco 
(RAL 9016) o grafito (RAL 7022).  

KITS DE ELECTRIFICACIÓN

TIPO A / B / C: cajetín con marco fabricado en polipropileno y tapa de 
aluminio anodizado que incluye en el extremo un cepillo para el paso 
de los cables. La apertura de la tapa es de 90º. Medidas 232x117 mm 
aproximadamente.
Opcional: enchufe normal (negro), enchufe SAI (rojo) y conexiones datos-
datos RJ45 CAT 6.
Acabados: blanco, plata o grafito.

TIPO E: perfil de aluminio fijado en el sobre de la mesa mediante pinzas. 
Se compone de dos enchufes normales, dos conexiones USB de carga, 
una conexión datos-datos RJ45 CAT 6 y un conector HDMI.

SOFÀS
ESTRUCTURA DEL SEIENT: 
•	 Part estructural construïda de fusta de pi de diverses seccions.
•	 Unida i reforçada amb cola d’acetat de polivinil (PVA), puntes d’acer i 
cargol auto-roscant.
•	 Es composa de corretges elàstiques entrellaçades de 80 mm d’ample.
•	 Espuma en la part frontal de l’estructura de poliuretà flexible (polièter) 
de gruix 25 mm i de densitat 60 kg/m³.
•	 El muntatge de l’estructura del seient al conjunt del sofà es realitza 
amb cargols M8 DIN 912. 

ESTRUCTURA DELS LATERALES I EL RESPATLLER
•	 Part estructural construïda de fusta de pi de diverses seccions.
•	 Unida i reforçada amb cola d’acetat de polivinil (PVA), puntes d’acer i 
cargol auto-roscant.
•	 També es composa de tauler d’encenalls orientats (OSB) de 10 mm 
d’espessor i tauler de fibres de densitat mitjana (DM) de 3 mm.
•	 Espuma de poliuretà flexible (polièter) de gruix 10 mm i de densitat 
30 kg/m³.
•	 La unió entre els laterals i el respatller es realitza amb un ferratge de 
zamak específic i cargols auto-roscants; muntatge ràpid i ocult.

ESTRUCTURA DEL PANELL PER A GRUP DE 4
•	 Part estructural construïda de fusta de pi de secció 40 x 30 mm.
•	 Unida i reforçada amb cola d’acetat de polivinil (PVA), puntes d’acer i 
cargol auto-roscant.
•	 També es composa de tauler de fibres de densitat mitjana (DM) de 3 mm.
•	 Espuma de poliuretà flexible (polièter) de gruix 10 mm i de densitat 30 kg/m³.
•	 La unió entre els laterals i el panell d’unió central es realitza amb un 
ferratge de zamak específic i cargols auto-roscants; muntatge ràpid i ocult.

ESPUMA
Del seient: de poliuretà flexible (polièter) de gruix 135 mm i de densitat 
30kg/m³. 
Del respatller, braços i coixins superiors: de poliuretà flexible (polièter) de 
gruix entre 146 i 54 mm i de densitat HR30kg/m³ (HR = Alta resistència, 
no-deformable i alta recuperació).
Els diferents elements estan recoberts amb buata de 100 grams.
Es fixen al sofà mitjançant velcro d’ample 50 mm.

PEUS
De forma cònica fabricats amb acer i acabats en pintura epòxid negra 
(RAL 9005), plata (RAL 9006), blanc (RAL 9016) o grafit (RAL 7022).
Es fixen a la base dels sofàs mitjançant cargols auto-roscants.

TAULES

PER A CONJUNTS DE 4
Sobre melamina: de gruix 25 mm amb cantell de 2 mm en tot el perímetre. 
Acabats en grafit, blanc, gris, faig, roure, peral, wengué, acacia clara, acacia 
fosca, zebrano, castany clar o castany fosc.
Tenen forma trapezoidal amb 2 cantonades arrodonides.
Es fixa al panell d’unió central mitjançant esquadres zincades d’acer i 
cargols amb rosca M6.
Opcional: mecanitzades per al muntatge dels kits d’electrificació.
Columna auxiliar: en la part superior està soldada una planxa d’acer de 193 
x 193 mm i de gruix 2,5 mm amb 4 mecanitzats per a la fixació del sobre 
mitjançant cargols M6.
La columna és un tub d’acer rodó de diàmetre 55 mm i gruix 1,5 mm.
En la part inferior hi ha un anivellador de plàstic d’ABS amb rosca M8.
Acabats en pintura epòxid negra (RAL 9005), plata (RAL 9006), blanc (RAL 
9016) o grafit (RAL 7022).

TAULA AUXILIAR
Sobre melamina: de gruix 25 mm amb cantell de 2 mm en tot el perímetre. 
Acabats en grafit, blanc, gris, faig, roure, peral, wengué, acacia clara, acacia 
fosca, zebrano, castany clar o castany fosc.
Tenen forma trapezoidal amb 2 cantonades arrodonides.
Es fixa a la columna vertical mitjançant cargols rosca M6.
Columna vertical: en la parte superior està soldada una planxa d’acero 
rectangular de 192 x 160 mm i de gruix 2 mm amb 4 mecanitzats per a la 
fixació del sobre mitjançant cargols M6.
La columna és un tub d’acer rodó de diàmetre 55 mm i gruix 1,5 mm.
En la part inferior està soldada una planxa d’acer de 2 mm de gruix amb 
dues rosques M6 per a la fixació de la base en forma de V.
La base en forma de V està fabricada amb una planxa d’acer de 5 mm de 
gruix i 2 mecanitzats per al muntatge a la columna vertical.
Acabats en pintura epòxid negra (RAL 9005), plata (RAL 9006), blanc (RAL 
9016) o grafit (RAL 7022).
  

KITS D´ELECTRIFICACIÓ

TIPO A / B / C: Caixa amb un marc de polipropilè i tapa d’alumini anoditzat 
que inclou en l’extrem una obertura pel pas dels cables. L’obertura de la tapa 
és de 90º. Mides de la caixa: 232 x 117 mm aproximadament.
Opcional: endoll normal (negre), endoll per SAI i connexions de dades-
dades RJ45 CAT6.
Acabats: plata, blanc o grafit.

TIPO E: perfil d’alumini que es fixa a sobre de la taula mitjançant unes pinces. 
Es composa de 2 endolls normals, dues connexions de USB de carrega, una 
connexió de dades-dades RJ45 CAT 6 i un connector HDMI.

CANAPÉS
STRUCTURE DE Ĺ ASSISE: 
•	 Partie structurelle construite en bois de pin de différentes 
sections.	
•	 Assemblage à l’aide de colle à base de polyacétate de vinyle (PVA), 
clous en acier et vis.
•	 Composée de sanglage entrelacé à l’aide de sangle élastique largeur 80 mm.
•	 La mousse de la partie frontale de la structure est en polyuréthane 
flexible (polyéther) de densité 60 Kg/m3 et épaisseur 25 mm.
•	 Assemblage de la structure de l’assise à l’ensemble du canapé  à l’aide 
de vis M8 DIN 912.

STRUCTURE DES LATÉRAUX ET DU DOSSIER
•	 Partie structurelle construite en bois de pin de différentes 

sections.	
•	 Assemblage à l’aide de colle à base de polyacétate de vinyle (PVA), 
clous en acier et vis.
•	 Le reste des composants de la structure est en panneau de particules 
orientées (OSB) de 10 mm d’épaisseur et en panneau de fibres à densité 
moyenne (MDF) de 3 mm.
•	 Mousse de polyuréthane flexible (polyéther) de densité 30 Kg/m3 et 
épaisseur 10 mm.
•	 Assemblage à l’aide d’une vis de zamak spécifique et vis tire-fond. 
Union rapide et non visible. 

STRUCTURE DU PANNEAU D’UNION CENTRAL 
•	 Partie structurelle construite en bois de pin de section 40 x 30 mm.
•	 Assemblage à l’aide de colle à base de polyacétate de vinyle (PVA), clous 
en acier et vis.

•	 Le reste des composants de la structure est en panneau de fibres à 
densité moyenne (MDF) de 3 mm.
•	 Mousse de polyuréthane flexible (polyéther) de densité 30 Kg/m3 et 
épaisseur 10 mm.
•	 Assemblage à l’aide d’une vis de zamak spécifique et vis tire-fond. Union 
rapide et non visible. 

MOUSSE
Assise: Mousse de polyuréthane flexible (polyéther) de densité 30 Kg/m3 
et épaisseur 135 mm. 
Dossier, accoudoirs et coussins hauts : Mousse de polyuréthane flexible 
(polyéther) de densité HR30kg/m³ (HR= haute résistance; indéformable 
et à haute récupération) et épaisseur entre 146 et 54 mm. 
Les différents éléments sont recouverts de ouate 100 gr.
Fixation au canapé à l’aide de velcro de largeur 50 mm.

SOFA
GESTELLBODEN: 
•	 Struktureles Teil aus Kiefernholz in verschiedenen Stärken und 
montiert gemäss den
•	 Strukturbedingungen.
•	 Zusammengestellt mittels Verleimung Polyvinyl Azetat (PVA), 
Edelstahlnadeln und
•	 Spaxschrauben.
•	 Geflochtene elastische Bänder im Sitz mit einer breite von 80 mm. 
•	 Vorderkante Gestellboden aus flexibles Polyurethan Schaumstoff 
(Polyether) mit Dichte 60 kg/m³ und 25 mm dick.
•	 Gestellboden und Gestellumbau sind mittels M8 DIN912 Schrauben 
mit einander verbunden. 

GESTELLUMBAU (SEITEN UND RÜCKEN)
•	 Struktureles Teil aus Kiefernholz in verschiedenen Stärken und 
montiert gemäss den
•	 Strukturbedingungen.
•	 Zusammengestellt mittels Verleimung Polyvinyl Azetat (PVA), 
Edelstahlnadeln und
•	 Spaxschrauben.
•	 Die übrigen Teile vom Gestellumbau sind aus OSB-Platte 10 mm stark 
und MDF-Platte 3 mm stark. 
•	 Aus flexibles Polyurethan Schaumstoff (Polyether) mit Dichte 30 kg/
m³ und 10 mm dick.
•	 Gestellseiten und Gestellrücken sind mittels Zamak-Druckguss und 
Spaxschrauben mit einander verbunden; schnelle und versteckte 
Kupplung. 

MITTELWAND (RAUM IN RAUM-SYSTEM
•	 Struktureles Teil aus Kiefernholz mit einem Schnitt von 40 x 30 mm und 
MDF-Platte 3 mm stark. 
•	 Zusammengestellt mittels Verleimung Polyvinyl Azetat (PVA), 

Edelstahlnadeln und Spaxschrauben.
•	 Aus flexible Polyurethan Schaumstoffe (Polyether) mit Dichte 30 kg/m³ 
und 10 mm dick.
•	 Vebindung Gestellseiten und Mittelwand erfolgt mittels Zamak-
Druckguss und Spaxschrauben; schnelle und versteckte Kupplung. 

POLSTER-ELEMENTEN
Das Sitz-Polsterelement : aus flexibles Polyurethan Schaumstoff 
(Polyether) mit Dichte 30 kg/m³, 135 mm dick und außerdem mit einer 
100-Gramm-Watte überzogen.
Das Rückenlehne-Polsterelement, die Armlehne-Polsterelementen und 
Level 1- und 2-Polsterelementen: aus flexibles Polyurethan Schaumstoff 
(Polyether) mit Dichte HR30kg/m³ und 54-146mm dick. (HR = hohe 
Festigkeit, Unverformbarkeit und hohe Wiederherstellung).
Alle Elementen sind außerdem mit einer 100-Gramm-Watte überzogen.
Level 1- und 2-Polsterelementen werden mit Klettband, Breite von 50 
mm, am Gestellumbau befestigt.

FÜßE
Konische Form hergestellt aus Stahl farbe schwarz met. RAL 9005, silber 
met. (RAL 9006), weiß met. (RAL 9016), oder anthrazit met. (RAL 7022).
Verbinding mit Sofa mittels Spaxschrauben.

TISCHE

FÜR RAUM IM RAUM-SYSTEME
Tischplatte: 25 mm Melaminplatte in den Farben Anthrazit, Weiß, Lichtgrau, 
Buche, Eiche, Birnbaum, Wenge, Akazie Hell, Akazie Dunkel, Zebrano, Eiche 
Hell und Eiche Dunkel. 2 mm Kante.
Trapezförmig mit 2 abgerundeten Ecken.
Befestigung an Mittelwand erfolgt mittels Befestigungswinkel und M6 
Schrauben.
Option: Netz-und Datenbox-Ausschnitt.

Tischsäule: Befestigungsplatte aus 2,5 mm Stahl. 193 x 193 mm. 
Diese Befestigungsplatte hat 4 Befestigungspunkte und wird mittels M6 
Schrauben unter der Tischplatte montiert. 
Tischsäule aus 1,5 mm Stahlrohr. Ø 55 mm. Mit Bodenausgleich-Schrauben M8.
Ausführungen Epoxid beschichtet schwarz met. RAL 9005, silber met. (RAL 
9006), weiß met. (RAL 9016), oder anthrazit met. (RAL 7022).

BEISTELLTISCH
Tischplatte: 25 mm Melaminplatte in den Farben Anthrazit, Weiß, Lichtgrau, 
Buche, Eiche, Birnbaum, Wenge, Akazie Hell, Akazie Dunkel, Zebrano, Eiche 
Hell und Eiche Dunkel. 2 mm Kante.
Trapezförmig mit abgerundeten Ecken.
Tischsäule: Befestigungsplatte aus 2 mm Stahl. 192 x 160 mm. 
Diese Befestigungsplatte hat 4 Befestigungspunkte und wird mittels M6 
Schrauben unter der Tischplatte montiert. 
Tischsäule aus 1,5 mm Stahlrohr. Ø 55 mm.
V-Fuß aus 5 mm Stahlplatte wird mittels 2 M6 Schrauben an der Säule 
befestigt.
Ausführungen Epoxid beschichtet schwarz met. RAL 9005, silber met. (RAL 
9006), weiß met. (RAL 9016), oder antrazite met. (RAL 7022)
  

NETZ-UND DATENANSCHLUSS

TYP A / B / C: Kabeldurchlassklappe mit Polipropilen Rahmen 
Ausführung Silber, Weiß oder Anthrazit und Klappe aus eloxiertem 
Aluminium Ausführung Silber, Weiß oder Anthrazit (mit Kabelbürste). 
Öffnungsgrad vom Klappe ist 90º. Maße 232x117 mm. Optional: Netz- und 
Datenanschlussbox Typ A oder B.

TYP E: Netz- und Datenanschlussbox aus extrudiertem Aluminium wird mit 
Befestigungsklemmen an der Tischplatte befestigt. Enthalt 2 Steckdose 
Typ Schuko (Schwarz), doppelten USB-Auflade-Anschluss, 1 Anschlüsse mit 
Staubschutzabdeckung für die RJ45 CAT6 Sprachdaten und 1 HDMI.

PRIVATE PODS
SEAT FRAME: 
•	 Different sizes of pine wood strips compose the inner structure.
•	 Strips are joined with polyvinyl acetate glue (PVA), steel tips and 
screws.
•	 Seat has got intertwined elastic webbings of 80 mm.
•	 Front side is composed of flexible polyurethane foam (polyether) of 60 
Kg/m3 density (25 mm thickness).
•	 Seat inner frame is joined to the rest of the structure with M8 DIN 912 
screws.

SIDES & BACKREST FRAME
•	 Different sizes of pine wood strips compose the inner structure.
•	 Strips are joined with polyvinyl acetate glue (PVA), steel tips and 
screws.
•	 It is also composed of oriented strand board (OSB) of 10 mm thickness 
and medium-density fiberboard (MDF) of 3 mm thickness.
•	 Flexible polyurethane foam (polyether) of 30 Kg/m3 density (10 mm 
thickness).
•	 Backrest is joined to sides with a specific zamak fast-fitting and screws. 

CONNEXION - PANEL FRAME
•	 Pine wood strips of 40 x 20 mm.
•	 Strips are joined with polyvinyl acetate glue (PVA), steel tips and screws.
•	 It is also composed of medium-density fiberboard (MDF) of 3 mm 
thickness.
•	 Flexible polyurethane foam (polyether) of 30 Kg/m3 density (10 mm 
thickness).
•	 Sides are joined to the connection-panel with a specific zamak fast-fitting 
and screws.

FOAM
Seat: flexible polyurethane foam (polyether) of 30 Kg/m3 density (135 
mm thickness). Seat is covered with wadding (100 gr.)
Backrest, armrests, and acoustic upholstered panels: flexible 
polyurethane foam (polyether) of HR30kg/m³ density (146-54 mm 
thickness). These parts are covered with wadding (100 gr.). Are joined to 
the frame with Velcro-straps of 50 mm. 

LEGS
Conical steel legs fixed to structure base with screws.
Finishes: black epoxy paint (RAL 9005), silver epoxy paint (RAL 9006), 
white (RAL 9016) or graphite (RAL 7022).

TABLES

FOR MEETING PODS
Melamine top: of 25 mm thick with 2 mm PVC edges around the entire 
perimeter. Available finishes: graphite, white, grey, beech, maple, pear, 
wengue, light acacia, dark acacia, zebrano, oak or dark oak.
Trapezoidal shape with 2 round edges.
Fixed to the connection-panel with steel brackets and M6 screws.
Optional: hole for cable management.
Pole leg: On the top there is a steel plate of 193 x 193 mm (2,5 mm thickness) 
with 4 holes to fix the tabletop with M6 screws.
Steel round column Ø 55 x 1,5 mm.
Base has a non-slip ABS leveler (M8) for more stability.
Finishes: black epoxy paint (RAL 9005), silver epoxy paint (RAL 9006), white 
(RAL 9016) or graphite (RAL 7022).

LAPTOP TABLE
Melamine top: of 25 mm thick with 2 mm PVC edges around the entire 
perimeter. Available finishes: graphite, white, grey, beech, maple, pear, 
wengue, light acacia, dark acacia, zebrano, oak or dark oak.
Trapezoidal shape with 2 round edges.
Fixed to the column with M6 screws.
Pole leg: On the top there is a steel plate of 192 x 160 mm (2 mm thickness) 
with 4 holes to fix the tabletop with M6 screws.
Steel round column Ø 55 x 1,5 mm.
V-shape base consists in a 5 mm steel plate and is joined with the column 
with screws.
Finishes: black epoxy paint (RAL 9005), silver epoxy paint (RAL 9006), white 
(RAL 9016) or graphite (RAL 7022).

  

CABLE MANAGEMENT

TYPE A / B / C: polypropylene box with frame and anodized aluminum cover. 
There is a black brush in the large size of the cover for cables. Cover can be 
open 90º. Approximate size: 232x117 mm. Available finishes: silver, white and 
graphite.
Optional: electric sockets (black color), SAI socket (red color) and RJ45 CAT6 
data connections.

TYPE E: anodized aluminum beam fixed to the tabletop with steel brackets. 
Composed of 2 electric sockets (black color), 2 USB chargers, 1 RJ45 (CAT6) 
data connection and 1 HDMI.

PIEDS
En forme conique, fabriqués en acier et peints en couleur noir (RAL 9005), 
argent (RAL 9006), blanc (RAL 9016) ou graphite (RAL 7022).
Ils sont fixés à la base du sofa par des vis.

TABLES

ENSEMBLES DE 4
Plateaux mélaminés: fabriqués en panneau aggloméré de particules de 
25 mm d’épaisseur. Chant de 2mm en ABS sur tout le périmètre. Finitions: 
Graphite, Blanc, Gris, Hêtre, Chêne Moyen, Poirier, Wengué, Acacia clair, 
Acacia foncé, Zebrano, Chêne Veiné et Chêne Grisé.
Forme trapézoïdal avec 2 coins arrondis.
Assemblage du panneau d’union à l’aide d’équerres en acier, finition zingué/
galvanisé et vis  M6.
Optionnel: Insérages pour le montage des Kits électrification.
Colonne auxiliaire: Platine supérieure faite en tôle d’acier de 2,5 mm 

d’épaisseur. Dimensions 193 x 193 mm. Cette platine dispose de 4 points 
d’ancrage pour fixer le plateau de la table avec vis M6.
La colonne centrale est fabriquée en tube d’acier circulaire de Ø55 x 1,5 
mm. Elle comprend des butées en ABS antidérapantes pour une meilleure 
emprise au sol. 
Finitions en peinture époxy noir (RAL 9005), argent (RAL 9006), blanc (RAL 
9016) ou graphite (RAL 7022).

TABLE AUXILIAIRE
Plateaux mélaminés: fabriqués en panneau aggloméré de particules de 
25 mm d’épaisseur. Chant de 2mm en ABS sur tout le périmètre. Finitions: 
Graphite, Blanc, Gris, Hêtre, Chêne Moyen, Poirier, Wengué, Acacia clair, 
Acacia foncé, Zebrano, Chêne Veiné et Chêne Grisé.
Forme trapézoïdale avec 2 coins arrondis.
Assemblage de la colonne central à l’aide des vis M6.
Colonne auxiliaire: Platine supérieure faite en tôle d’acier de 2 mm 
d’épaisseur. Dimensions 192 x 160 mm. Cette platine dispose de 4 points 
d’ancrage pour fixer le plateau de la table avec vis M6.

La colonne centrale est fabriquée en tube d’acier circulaire de Ø55 x 1,5 mm.
Une plaque d’acier de 2 mm d’épaisseur avec 2 vis M6 est soudée à la partie 
inférieure pour fixer la base en V.
La base en V est fabriquée d’une plaque d’acier de 5 mm d’épaisseur avec 2 
trous pour le montage à la colonne verticale. 
Finitions en peinture époxy noir (RAL 9005), argent (RAL 9006), blanc (RAL 
9016) ou graphite (RAL 7022).

  

KITS ÉLECTRIFICATION

TYPE A / B / C: cadre fabriqué en polypropylène et couvercle de la boîte en 
aluminium anodisé (peigne inclus). L’ouverture du couvercle est 90º. Mesures 
environ 232x117 mm. Optionnel: bases électriques (noir), bases SAI (rouge) et 
connexion données-données RJ45 CAT6. 
Finitions: argent, blanc ou graphite.
TYPE E: 1 profil d’aluminium fixé au plateau à l’aide de pinces. Composé 
de 2 bases électriques (noir), double connexion USB pour le chargement. 1 
connexion données-données RJ45 CAT6 et connexion HDMI.

|19||18|



Mobel Linea, S.L. se reserva el derecho a introducir en estos productos sin previo aviso, las mejoras técnicas derivadas de su constante investigación. Los procedimientos de impresión no permiten una reproducción exacta de las tonalidades originales. Para una máxima fiabilidad consultar los 
catálogos de acabados. / Mobel Linea, S.L. es reserva el dret a introduir en aquests productes sense previ avís, les millores tècniques derivades de la seva constant recerca. Els procediments d’impressió no permeten una reproducció exacta de les tonalitats originals. Per a una màxima fiabilitat 
consultar els catàlegs d’acabats. / Mobel Linea, S.L. se réserve le droit de modifier les caractéristiques techniques des produits sans préavis en les adaptant au progrès technique. Les procédés d’impression ne permettent pas une reproduction exacte des tonalités originales. Pour plus de fiabilité, 
veuillez consulter le nuancier finitions. Textes, photos et illustrations non contractuels. / Mobel Linea, S.L. reserves all rights to make technical changes and improvements at any time resulting from  his ongoing research, without previous notice. Please bear in mind the actual finish may be slightly 
different. Since the printing does not show 100% the real colors. To make sure please look at our catalogue finishes. / Mobel Linea behält sich das Recht auf technische Änderungen zu jeder Zeit und falls nötig vor, ohne die Verpflichtung den Fachhändler von diesen Änderungen in Kenntnis zu 
setzen. Bilder sämtlicher Produkte und Illustrationen sind nicht farbrerbindlich und können vom Original abweichen. Änderungen vorbehalten, für Fehler und Irrtümer keine Haftung.

M
L:

 2
02

1/
01

com

PUSH


